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IMPORTANT NOTES

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
TR G O W9 B A © o 39 Hor 1 UH. 3TN, T i Well JhH W WU A |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
weA-0w fafir gfte wd v o faufsa & | s gite v um d | RS e et el # §el Sl 3 3 o9
iz ue am o sifea e §

(C) Attempt answers either in Hindi or English. not in both. For Language Papers, answer imyconcerned language
and script, unless directed otherwise to write in Hmdl or English specifically.
I e an frt o | @ Rt w A iR, <91 A 8T | W Tawae we o S S wae Wi F fafa | &
faw int, w1 e T wvw Tavte & e arem 9 &S o ot d sav e & foaw = ferar mar &1

(D)  The candidates should not write the answers beyond the prescribed limit of words;failing this, marks will be deducted.
st 9 ot 3o Frelfr st 2 S v ek Fora R | € S B 7 e ST |

(E) Please write answers only in the prescribed space of booklet. Do not write anyamark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone@umber, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated asyunfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is notfilled correctly on the O.M.R. Sheet.
forelt ot 7o o S e Sivaes o Freifie wF o T | e e Q@ R % TR i) ¥ o g W o ST A,
Tl ST STET 37T Y T 0T T - WA | A, U1/ G0 FoRp Saaiaii 3 A SET 39 i ot Iy ¥ et
e, A U9 3 IS AT | O WS 5 S S/ AT ST W e HE SR | SHUH.AR T W O
T o YT 3 &R TT ST G 9 W § A § ST e T |

(F) Candidates are directed that they should not write"(answer) out side the border line in every page. Answer written
out side the border line will not be checked by the’ EXaminer.
araferet ) R v St & 6 TR g B ToiE TR § a9 T 9T o @ 916t W] e ford | ae
AT % A fow T 3t St W Ry SiEnas! s |

(G) [If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will\be\treated as standard.
aﬁ%mﬁ%ﬁmaﬁaﬁ?wmwwaﬁﬁﬁﬁm%%ﬁwaﬁﬁwﬁﬁﬁ FHustt
W AR T |

(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
dectaration as per diréefions jprinted on the envelope and return it to the invigilator.
sneft B TR grasnEicEe AR 3 UTE & T § | snadt e uy sifea PR S UEeT BT o g
F A AT IY AW AT T |

(I)  Candidaté should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue

ball pointipen. Pléase ensure that this OMR Sheet is not torn or damaged.
wqgwgﬁamr & T T T SN UA.IR, TF W T4 it freror et e 97 } e o | am

T T 7T T3, T FE | FEHE T 3 Hat off v ¥ arfeud T a |

(J)  This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
TF A TH.AW. T g i o st &, Fred wian g i § 99 S 9 snaei S R € )

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.

It weAreY T w6 ¥ FARD 1 o €, a AR & @ | o § qar 5§ SSeiar o, 359 SUe St
Freyell T B
favte =iz
el g 3 SR, T W et gt R St & A 3R TR v il ogans Snelt & argen 3§ W R TR W
wgart Fagr sifera fomar < &, at st 3R Sqor Wi ¥ enafaan Frea Bt 5 i i 39k forg anaet SwerEt &
Special Notes :
tf there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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Paper-II 5 ‘ ‘I

Note :

JAUHEN

IIIH

PAPER - II GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)

(Total 43 Questions)

Unit -1 (65 Mar!(s)

@z -1 (65 3t%)
Part— A Marks : 20
WFT — 37 3E : 20

Attempt all questions. Answer the following questions in 15 words,eachsEach question
carries 2 marks.

| ueAl ST | B ue ST 15415 U=t 6§ | UoAw e e 2 et Pt €

Find the number of 5°s in the following number chain such thiat sum of two digits before
it is not greater than the sum of two digits that follows it.

24593587652150503503

a2 T T gEen W U e 5 § A A ved IS T A 38 3 915 % & i

& aT | st Adi g 2

24593587652150503503
Thore one fgws /}ucj'\ ' A l”) .‘214563_&_’274‘52!505'0
- 20}
(2+44) < (9+8) VP

(a+3) < (8+7)

@-H) < @4—5’)

Lo—rs) z (o =Y

A particle ¢an“eomplete a circular round in one minute, but it moves half round
clockwise and one-third round anticlockwise successively. Find the time in which the
particléwvill complete one round.

T 0T T FeER 56 T e § T o TRl & TR ¢ SFATTAI STTET =05k S8t ot ot & e o
TS =0 et <t fadia feem & weten ¥ 1 e wHa T i e 9 w07 us QU Hs S |

A‘ .\N ‘ ‘\(_W\Ilf_
Al
m P
4
k—z%&ﬁ“"w

15 A

TJC w‘l‘M NN EN Cﬂ"\?\e}é onL @M[‘J\(J“e M\Av\d]

e ik ol \qu,p omﬂwgﬂwil béjrweem D ovd 8.
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Find the smallest integer greater than 1 which is simultaneously a square and a cube of

N
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3.
certain integers.

1 | 3 98 BI ¥ Bl [N T HieTd At Tk 9o 681 o qonishi 1 a7 o T & |
Cu v Yo vumber wWwiach 4 SqNANE of g avd

enbe of . %

4,  In aright angle triangle ABC, right angled at B, prove that

(AB)® +(BC)® < (AC)’
T G Bt ABC H 01 B THhi07 & | g hiferd o

" (AB)* + (BC)* < (AC)?

5. What is the varianqe of first n natural numbers ?
VT n WTShel ST ol TGOl <RI € 2

s dond deviabion of Bk sl mbess = o %L*(%)%

A= 124 = ndnt)
2=

& W LY N Y\(_')'\,ft'ljc?—"‘*'o

"6
Q’\-H )é’)—h-}") _ l ):\:_—'-\L _ Lh'ﬂ) { l:_';_'. _ h-{i ?7
é N \/ = t 23

52 = )
v
F'.—_ﬁ_:\ | ——
SIS AR S
Wl A V.

1
Varrance — Q-y) = 0=
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6. If A, B and C are three sets such that none is a subset of other. Use the Venn Diagram to

find (A - C) N (C - B)
iz A, B @ C a3 t& 9q=ua € for i off gk o1 Sogm @ & 1 39 si@ @ 39T o
(A — C) N (C — B) 3 Hitad

7. If “SHANTI” is coded as A981A4B09, “FORUM: is coded as 6A5SA8B1A3 1n a certain
code language, then how will “BUILD" be ceded in the,same language ?
Ifs o ffvaa §2 o § “SHANTI”? it A981A4B09 fomar sian €, “FORUM” &t

6ASASBIA3 forar w1 2 at 39 S 9 H “BUILD” &t = formr s\ 2

8.  Find the area.of the shaded portion in the following figure.

@ ma fox | smifea wm = gawa 7@ SR |
1!]’

A
i
N
v
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9.  In an examination it is required to get 36% of maximum marks‘to pass. A student got 94
marks and was declared fail by 14 marks. Calculate the maximum marks.

feret olien # Aol @ % forw sfuen 3 9 36% W GRS AUe | T foEmel @t 94
aish T gt & 3 3/ 14 3ol } st wifte R far e /) st it @) o
Fita |

led He dobd wandet in  oxaml cher "X
pwn'xa wvaaks = | 2xBC

Tiaw]

Ao fer fe gumshiom, (I _ gy - 9y

& — —_ - o3 X
> A¥BL 108 =D A= ’é‘f"a/

=) X=730c0 Ay

10. An electronic deviceamakes a beep after every 60 seconds. Another device makes a beep
after every 62 séconds. They beep together at 10 a.m. for the first time, then find the time
when they beep together at the earliest.

TH RIS ITHLUT U 60 AHUS TvaTd, U Ul S/ & | TH IAH0T Tdish 62
WHUE TTET Wi T ¢ | TR O F T SUSOT 10 am, I W H S qod & A 9%

YIS O T ST S 9 Teh 91 Wi SR |
both He  demices will J,% %M b Hee

fM‘U)*‘ 4‘F+U; 4’\»«2 ‘sz d{wvv"loh en!/v\w{ o —szu. Lem .

Lem (Lolél) = 1840 %CZ&‘J/)
1846 Hecond = ‘__’;_é_’_?, = 21 Mivw\j‘@
‘:-PM will £¢@? "vaeﬂf\w_ 4 -113:31 ArH PATN
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Note :

e

Il

Part-B Marks : 25
| - _ FEH: 25

I

Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

wofi el 6 I § ) P w1 S 50-50 IR A ) TS U % 5 3t P & |

11.

I, K, L. M, N and O are the members of a family. Professions of all,members arc
different. If

(1) Family has two married couples.

(ii) *M’ is a doctor and his wife is an engineer

(i) ‘J* is grand daughter of ‘O and sister of ‘L.".

(iv) ‘K’ is grand father of ‘L’ and is married to a teacher,

(v) ‘L’is aclerk and his mother is *N’.
Then, who is the wife of ‘M’ ?
J,K, L, M, N 3 0 @ thaR & ¥e ¢ | oot gt haawms i € 1 7
(i) “REr# 3 foafea e & |
(i) ‘M’ o Fafeas & ST ST Il U SN-aE e |
(i) 7, O HMERTT L Bt g |
(iv) ‘K’, ‘L’ ¥ IRT ¢ T 3! WIS Uh STyt F g ¥ |
(v) ‘L’ T goih § o ST A N ')
9 ‘M’ I TS B B 2

Ay, {ej) 4/,{\1% }'wfga)ywv\_g‘foy\] QMII; ’}“fee Ldlu Le Nce

A (O Mee_ o‘b\'anM, wWifFe of M LV N who A&

"

an u«y‘v\e% . v
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12. IftanB®= —‘_L ¢=_1L then prove 8 _x
osd) 1-ycos® sing ¥y
xsmﬂg __ysinB aﬁeSi“9=£
e tan 6 = xcoscb n¢ l—ycosE)’Fﬁﬁ:'3 sin¢ y
.5__31@_ _y LN .
30~ O T | yeesd D S = X simf o
) £ o5
c»sd },—?(o;@ '»9 0% &
Sin@ B X ging (o5 @ ( P (059)
s’ @ A Qf—f-ws,@ Focas g 5@
jp\v.;j 4b0\/é VJG_@GX
SInG® = X j R 0
e 9k

13. N is a three digit number that/is a multiple of 7, what is the probability that it will be a
multiple of 5 also ?

N &7 37! 1 7 & TP Bl I T@ & O 3TF 5 & i O G B FT WEsHr 8 2
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14.  What is the largest integer not exceeding 1000 which leave remainder 3 when divided by
5, remainder 5 when divided by 7, and remainder 7 when divided by 9 ?

1000 ¥ 31fee 7 8, 98 T Fgf qunieh e w1 a5 & fafe R W evwe 3, 7 @
fanisTe = 9T IIowet 5 @ 9 | T & W SEe 7 @A E 2

Ar 'PUL‘H‘L ezwu)’\'ov),, W hem *\4«—6 V\U\ML-@)_ M AA\/HJ{/J J?UL,
.79 24\/% VUMM‘J&/L 3, 8,7

J/vﬁcmcf bd—wem JN\),M, mxA '\’GJW\M‘WJ-&)_ ivx
Cach (a3e o 2 . ( 5-322 3, J=$=2 3 5-7= 23

A0 ’HAQ Mu\vv\);w), w\‘/u £~é = Lam (5-7/5).—‘2_

Lem (6,7,3) = 38

i et : 41 . A
lw,;dwjr namben  pekow (1660 Wkch & a vawlhpig 6t

o
57,5 = 3x3152. 95 4

=) Ao He 'Ye.zw\Mal numbey b Ay 52 =2u3 Ak_é__

7 :‘__'_-——V

I5. Mr. X invested money in two Schemes A and B offering compound interest 5% and 10%
per annum respectively. If“theytotal amount of interest accrued through both schemes

together in two years#vas'® 2075 and the total amount invested was ¥ 15,000. Find the
amount invested in scheme A. '

e X 7 St AFtrel A 3 B § g9 Faw e st wEen 5% S 10% uided Tty =
WS WA Gt | Al AN & 91 G Qe g B AteTa s @ i T 2075 o qon g
e fomam Tar 99,2 15,000 & 1 @S A o e 1w afdn e i

!fj‘& }wa‘a*\ amov\\-\l(‘ {\«NU)L&J I AM)“ s hamt }9 f\ ‘S’—>
qMOV\v\Ja' tvy beco_v\.ﬂ( aehome B ';Qs-m’ﬁ)

Aolzd W derord y\/@q A Lo75F

. Ao ’1’047\/( GWM“} O"’ A and R = [ S0 +20785 = [7o15H

= (FS. \- _ fjo N &
> AR A sty (1) TE 117 S
_ Uu 12.1 _ - Y
"7 Pﬁ ﬁ)‘?égm—"a)m /lqn7$ N
5> Wb _wrs o> § - 6000 P

4 a0 S
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Part-C Marks :
‘ T -9 P 20
Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

A el U & IS | T uRE 6 S 100-100 IS W | U U & 10 3 fAuifia €

16. Two tapes A and B can fill a tank in 5 hrs and 20 hrs respectively alone. If/both taps are
opened then it takes 30 minutes more to fill the tank completely due to/ahole.in the tank.
if tank is completely filled then how much time (in hrs) will it takefo'get tank empty due

to drain water from hole ?

YA A B TH THl 6l HAT; 5 6 a4 20 U T het W Fha & | A< g1 A @i 5

4 &t 2t ° U 9 % HRUT T 0 9 1 30 fime it sfumere € |
IfF St G 90 g B A SW BT H ¥ WR UMl & FEee qreeL A @t g # e §ha

(g2t ) e 2
Led's Aoua Mo otz dvnonrd of o= Lem (S 29) = 4o waik

B can G g domk ivle Wi = A con do gouquj

4){:‘ Wf)h)ﬁ v CLV)))
:> A;) AW )’wvu), Wﬂ)x/k,,..—-—- =)2 U"‘-’U(j

\M\\WQ’ 1A one hewa werde = % = 3 \4-O€2’
Q+é)',s one. hown worMe = 1243 = 1S uwps
So, Hme dul en b BB to Al te fande = é*_;_. -y

NowGiver fad e do hole, ik dndee 2o wriwmbes wiove bo KU

P : \ 3 >
= WoAK dona bD hoAe Am Qﬂvv, +20 whwﬂ%)
— voonk Aone ba QI8 ) im e e g, mi,

—

=) werk dene };2 (A¥B) 1n 2o min = @igxi_ — 15 ek
2

Now, )\0}6 ’LavL@ b.< )\M ‘I’D AO '5)2_ \J\M'I('s ap vdv)\/L
=) Hme Fnkem iw 0L01‘“-ﬂ (o unATz of voovh

~

- iK{é——X«{@: 24 (X ':%?;%
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17. In an election 10% of the voters on the voter’s list did not cast their votes and 60 voters
cast their ballot papers blank. There were only two candidates. The winner was supported
by 47% of all voters in the list and got 308 votes more than his rival. Find the number of
voters on the voter list.

T TS H Taan gt § | 10% Fagraret = S wa 76 g a9 60 qasrst A wa o7 fem
el | 8l O o 3 seiikeR & | fosiar B maemr = ° @ 47% gasarett & geeds e qun
30 3 wlagEt @ 308 TA SARF U gU | AR g § asTareti S 9 [l @iaa |

)JM—»} P,z ’;‘D"?\A \/a—'-e/;)) i Va~\—e))_ Jud = e

Y
alvem, lod, Ardn'd cent Pt voten
/ '::) JFDJ"\/{ C,f"JH' vote) = 1%_?-‘-’1

50

9\'\/&«, Lo Vodes wene s
-;:) \/ov{aA \/D’)Le)) = Cxﬁ,e, __g'o)

jro

Nevd «> ?/‘h\b))"\o\f\} u)’vmé)&, 90} u7v sk —\—ofbj voters
W dhe bnd

—

% Ud s o’g Wivvner =  AX4T
ac)

Fa WY . i i Al
UoEe) ot [ogen = valid voteps - voTes Wwivg)

G

- Q‘Ax % - Ao)
M gavem, JubFersmce. behoeem B voten of- Lotvwer ans

lorenr. = 7328

= AKX ' . '
") T?B — (Xﬁ%féb> 7‘) GLK%U‘F&O)

;> XA — 308-40 = 243
oo
=) N 242 X0 . [R0D

Y

- 30}
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(Unit-11) (70 Marks)

’ WA

@Fe1n) (70 37F)
Part— A Marks : 10
WTT — 3 3w 10

Note : Attempt all questions. Answer the following questions in 15 words, each. Each question
carries 2 marks.

AT: WM U H IS | T v W I 15-15 TR A T ) U U 6.2 Fhduiia &

1. A light and a heavy body have same momentum. Which on€jwill have greater kinetic
energy ?

T TIH! I U IR 9 & ST A & Igﬁﬁ@ﬁmﬁﬂﬁﬁﬁﬁaﬁﬁﬁ?
since. Jaahd bodo ad wn Joclla\favg cawe NW«T\MW)

0 J 7/ ¢/
= mvz N = {\, 7V l
now, kanede wwuwow o((\ydocfkp\’l—

- —%—;vxu'z' > J;MVL (of) VAOUQEJ hoos an index ot
\ 2 mM ﬁ'ﬂ‘m\«lhy

=S lwakic Dy oF L'Dk}q, ob_)edf witt bz eve -

2. How does the density of nuciear matter depends on size of nucleus 7 Does the density of

atom also. follows'the same rule ?

Ffetggaree T ATe & AR T B ver ol S & ¢ Far wa) & g9 st 3
Fram w1 T e 0
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3.  What do you understand by “Joule-Thomson effect” ?

ST TS § ST R R § 2
Toﬂﬂ_ffr\f\omm Q,F'L&{' A fM@/L J—o Ha %@J‘\'v\;}

;?Mfwﬁa ot Je&Md,-%- Tk LD Haat et ?WJ
dwe ko a comerd T \Clowf\«?} fre & sec o o tomton

ot R ohw , B ?4\/% ba qfollou\‘v? Lo H;Il,e-el

Aeakivg_agolioncer, tncandesconk bolb Gople [@] M priveyle

4. Write the name of causal organism and vector of*Dengue fever’.
ST @R & HH A 7T T S8 H A [IRay, |
/Dé»\ahé |Cu/u._ M (AMJU? b&\ ‘A%&Mi \n‘)yu.))‘ lr\.)l'\-llcl’\ ,U_)
a_onlpo NUWA - \ectop, ot iTUf\;M Q.WUL‘ Py ad% 0\6—;\3{»@1
mnids. R
5.

What arewmbrella species ? Give an example of umbrella species.

BT USITEr o1 & 9 9 USHId o U ISR T |
Uwbaella Apecio) also brown o 'léw'*om M’eaa] . Fhose

specie) which  ane Q\meun ;mpwygewﬂ £Br pomivad o

on fco»{H'W a\\)‘ ANE_ M}re/?,co\rmec«f-ej wuH\ M{

uwnbess @€ sfecle/s w\ éuﬂ ub’o- TRM &X""’hﬁ;‘lo\\ {AnALA

(%Caab\'v/s)} eﬁefﬂ’ oW aco);}v}'{‘m- f____{\; seA Wv’JM'M 0

i
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Paper-11 ”
Part-B Marks :
T -9 A® 20
Attempt all questions. Answer the following questions in 50 words each. Each question

Note :
carries 5 marks.

Az | U F IR | T 6 I 50-50 Tl B T | TS U & 5 39 e &

6.  Write Kepler’s law of planetary motion.

T g & R &t # EfE
l&d% ow/e_ H/JL&Q 'ﬂ\d/) )ve;,\wubm VV\a\/wWLIJvJQ a’\c P)o\\r\e)(ll

arpund &«\R’L\ W leuz A ﬁwﬂr }mJ — Tk phde Mok
planels wove suond e sun jm _am ellyh) oAJeu@ w itk
S wm\ o 0wl of Mo o ocii &F dbme.
2 bf\m 2 pecornd law shedes Wdad sading vectrr of 4
flome)q' with  gun AF wJ*(e, Lhwieeph -ULMJ anes im 4:;:/\«4& Hme.
Vo AR W

R S

6> Jﬁe»[%‘b T Hw — ik }341)}@ Mot PIICYYa of Mg A

ao\AoJ of Wa/b\ul’\o\f\ oy Wpo»homﬂ to cube of semi. vku;w AxIR-
3
Tx 4

The conCentration of Hydrogen ion in a sample of soft drink is 4.0 x 10~ M. What is its

pH ? (log{,2=0.301)
U Ug % T W EIRgeH 3T B A@ar 4.0 x 103 M@ | 39 pH R g 2

(log,,2 = 0.301)

7.

Ay por i Gandos P12 —ba[w*j
)\M 4/“‘,&,‘ U,ﬁj:om@\kﬂ}\'o»\ 0‘(: l\,{%bdleﬁ’\ Y on

= uxw’BM

= = —'b’ﬂﬁ“*“’ﬁ.s)
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> <oy = ey (107

= _b:%z—,baaz +72 deg 12

= _(2o1) —(2e1) +30) v

= —tbo2D+3 =N 2393 (Pws

8.  Write a note on genetlcally engineered insulin.

e it gfer o feorol ffa | ;
Q{vdn&ﬂ/a-\ %The%eﬂq |wS\JAw ) {Ln;sab\md eH,\)\,ou\jJA &

oprelic emspmeenip, ‘('eel'\vw,toaa ) »\amd&q, gene splicing (gene
(bvm'v%). Tn W Leckv\/izu\z, gen) inPoM!)Dl( for Seandiy,
{%,oAMcJ‘l'—m ane talon Gt a dover cdh  and Hen
fined witin _a .lollM\MAA (a vectonD) - plow) My MMWJ(
B llowed do \fee kb backenin (_hart) whadh  grodmeen
yw.U‘l‘ﬂle_ Copied of tho eme )9»1 ﬁmn‘mwm.ﬁﬁm techwine|
B alro edled rocombiad ?NA +ec:kw/{nw. &emol‘\mﬂ%
MV\&M toldin can b wred v &éd\c PA/Q“%’QS wl\o
ane unsble do preduce  emongh & isubin Horough pancreas |

9.  Enlist various trophlc levels in an ecosystem and give suitable example of each trophic
level.

Wmﬁ@hm%%ﬁ?ﬁmﬁmﬁmwmﬁw%sﬁawﬂm |

ﬁmJ {MM,BA/() ;Iow,b -Qum {W\AGLV\CQJ\/) 40 ﬂvm,o\ C OVIUPAENN -
4%0@19, Mene are by dnople Jevols wn dn ecosgrbum
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) bw»abw)\ fovn oghae Lvdda L Haore B Lt nok swbhciond uwxga

(O Pumary Prodmcer - Photumakhehe plhinks wund certoun bacteus
- ¢/ '

I;D\«Mzne Qool 17\0\ wsf\mg A,‘m{plc {na/\,?}aw\'c ma\ec\-v(e/} /coL!HL@_

(@) _bimary Grpumen. = there ane Aeporddenk o phivrans, produceny
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Note : Attempt all questions. Answer the followmg questions in 100 words each. Each question

carries 10 marks.
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10. What do you understand with, communication system ? Give block diagram of
communication system and explain'its elements.
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11. Distinguish between conductor, semi-conductor and ifisulafor/on the basis of band theory
of solid.
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12.  What are chromosomal disorders in human beings ? Write causes and symptoms of any
two such disorders.
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13. Discuss the Breed Improvement Programme undertaken by the Department of Animal
Husbandry, Government of Rajasthan.
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(Unit-11I) (65 Marks)

gfre-111) (65 i)
Part— A Marks ;: 10
WAT — ‘ A+ : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

M. | U F I ¢ T U R I 15-15 Tl H T | U U &2 3 fuifia &

1. What are the-meteoric lakes ?
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2. What is’Epicentre ?
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3.  Which are the areas of India, receive winter rain ?
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4.  Write the'names of major non-metallic minerals of Rajasthan.
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5. What are the male and/female literacy rates in Rajasthan as per Census-2011 ?
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Part—B Marks : 25
W -9 3 25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries S marks.
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g L

6.  Explain in brief the location, names and importance of the great lakes ofiNerth America.
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| 7.  Describe the..Bshw’ type of climate of India.
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8. Discuss the impact of L.a-Nina on Indian Monsoon.
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9. Discuss in brief the types and distribution of building stones in Rajasthan.
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10.  Write about the distribution and industrial uses of lignite coal in Rajasthan.
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Part-C
B3 1T-9

Marks : 30
e : 30

Note : Attempt all questions. Answer the following questions in 100 words each. Each question

carries 10 marks.
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11.

Explain the divisions of Geological Time Scale.
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12. Divide coastal plains of India into sub-divisions and explain their characteristics.
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13, Describe the habitat, economy and society of Bhil tribe in Rajasthan.
T | et S & SATey, el ua TS Sl duid Sifs |

Pl D B bt bade oF QA\,J{AJ)JM»« and A
second abber Meonn dm  populoion bems Likanlly oo
wesdd ' Bhul’ means  anches foov\ have /W\wlﬁ‘qu‘ I pos
Cdmnge in T Mo \MA%A,O of QM"SHAAV\ TkeM dre_Apun
wwwb« iy Udsipen, DMM«WM C'JMHvMA% B\t’\ﬁl"/ﬂ
And nglw\ bt . goy, mc Rheel 'po}ﬁMov\ «rfex)\cx{ 1y
above wertiswed dobmits -

The howner ofF Bheel pne tolled 'koo': Cnowms of
hmses anecabled ' 0ol Vendk of pask s celled
"akde' - Thoin \/\'ﬂiuaa tne csllarl vy vovah ke anl
hesh of \/JMMe b edle ' Gameh ", Bheels gar avided |
inko o Jrv\PU\ D, meqozq—\wz\ bheed Cwhe wens ow’«
a_LomY) @> fadidar )D)WJ /.,ou wern dhoh k).
ﬂxe)«\ oA ladp Yoizagmeertons by 4 Aitnad clled * chuda
Baw/s» . Cach @\wﬂ»\ has J*b»uﬁzx 404 cAUe//( ‘o dzn !
Wewagm cons diverse L’M a__cwatom ap Cheda fhaddnn -

The veo hmbawd Aoy -\—o Py T%MJ 4 Mov\e}w? |‘4M¢\4mﬂ0
amonnd. Theiy eemomy Y MMv\ﬂn bqe_,k o9 LmJn‘M . pamf»u‘?a

m»\A A(C)wu%q fovery ){woabv\fﬂ‘s 'IT\U*\ live_on . /SM)DA\/SL&nce
barts awnd all Hode 0 conmed /ﬁ eorsumed -




30

Paper-11
SPACE FOR ROUGH WORK
¢/ o /. s 8
/ ’ f k.2 15757 255 L
P 2 (rey > 2278 EAe NN o
T g & \@9.}5 k\* /3;‘) < ‘/]c
M4 Pro” Noﬂ'v "1,
Q L‘ *Tg;(:% /{,'7 \© \/10/}
\ sy \G Q>\% - /\g ¢
% Al ﬁO \/]O %\
9 Léﬁ y L;'SSO \\9\\ v /\
L NN, D \ \ xLL /\% Ag )
) \ ©
i Y L RPN &
)\5:’:)‘ \9' X \AQ\ ’ A
© 9\‘-““\(0 ] ,\r\% e
. \
VI W e
?f@ N ?
'@ w2 L
W
I
‘ m\f MV = MYy
s -
2
)
1










